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BACHELOR OF EDUCATION (B.Ed.) 

r. 	 Term-End Examination 
C 	 December, 2018 
■_0 
0 	BES-141 : PEDAGOGY OF SCIENCE 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : 	(i) 	All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 

600 words : 
Explain common myths about nature of science. 
How will you facilitate your learners to overcome 
these myths ? Explain with suitable examples.. 

OR 
Discuss the criteria of Ideal Science Curriculum 
as suggested in National Curriculum Frame-work 
2005. How will you ensure these while 
transacting the curriculum in a science 
classroom ? Give examples. 

2. Answer the following question in about 
600 words : 
What is cooperative learning approach ? How it 
can be used in science teaching ? Support your 
answer with suitable examples. 

OR 
Discuss the use of laboratory as a place for 
providing learning experiences. Illustrate by 
giving by suitable examples. 
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3. Answer any four of the following in 150 words 
each : 

(a) Importance of various schemes for 
promoting scientific attitude. 

(b) How will you demonstrate the phenomenon 
of 'electro-magnetism in your classroom ? 

(c) Types of wastes and its management. 

(d) Suggest an activity to explain animal 
husbandry to your learners. 

(e) How will you explain chain formation by 
Carbon atoms in Organic compounds ? 

(f) Explain 'Nitrogen cycle' in details. 

4. 	Answer the following question in about 
600 words : 

Develop a concept map on any topic of your 
choice from science text book of class IX. Explain, 
how will you use it as an assessment tool ? 
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